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Hyper conjugation in propene involves..

6. When KCN is added to a salt of
T. Krishna an aqueous aluminium acetate
Subject Expert, solution
LEO Academy, 1) a complex K;[AI(CN) ] will
Hyderabad be formec} .
2) Al(OH); is precipitated
3) AI(CN); is precipitated
MODEL QUESTIONS 4) no reaction takes place
7. When excess of potassium super-
1. The entropy change (JK~! mol™!) oxide is placed in a container
when one mole of O, at constant containing CO,, then
pressure of 1 atm. is heated 1) the pressure of the container
from 300 to 400 K. Given that decreases
Cp(0,)/ JK 'mol™' =258 +0.012T / K 2) the pressure of the container same titration. Hence, volume of | 14. pK_,, pK , and pK_, of glutamic )
in this temperature range. increases HCI for complete reaction of acid are 2.0, 4.0 and 9.5 respect- ¢ H-CH,
1) 6.22 2) 8.62 3) the pressure of the container Na,CO; is: ively.  Correct  statement(s) Q/
3) 83.0 4) 8.30 remains constant 1) 2x 2)y regarding glutamic acid is/are
2. Liquid benzene freezes at 7°C 4) the pressure of the container 3) x/2 4) (y—x) 0 0 1) Only a, b correct
and boils at 77°C. If the K, and first increases and then 11. If it 1s known that in Fe; o6 O, Fe 2) only a, b, ¢ are correct
K, values for benzene are decreases is present in +2 and +3 oxidation HO oH 3) All are correct
5.0KKg/mol and 2.50KKg/mol | 8. Which of the following statement state. What 1s the mole fraction NH, 4) a, d are correct
respectively. Calculate the ratio 1s wrong ? of Fe?* in the compound? Glutamic acid 16. Which of the following acids
of the molar latent heat of fusion 1) Excess of acidified solution of 12 5 1) At a pH below 2.0 the amino is/are more acidic than benzoic
to the molar latent heat of i - b /25 2) Az i I ' I
potassium permanganate oxi acid exists predominantly as acid?
vaporization. dizes nitric oxide to nitrogen 11 0 0 H
1)2.125 2) 0.4 dioxide : ) )2 Y 1 i .
3) 1.28 4) 0.32 2) the reaction 2HNO, + NO —  12. Expression for the energy of HG O y [ ) @/
3. Which of the following com- 3NO,+H,0 completely moves electron in the n™ orbit of NH, o =
pounds may give blood red in the forward direction with Hydrogen like species 2) Solubility of glutamic acid is Oz
colouration while performing conc HNO, S uas minimum at a pH of 3. COOH
Lassaigne's test for nitrogen? 3) the action of concentrated 1) E, = —2n ’szz k 3) At a pH of 12 glutamic as JCOOH )ﬁ
A) (NH,),CO B) (NH,),C =S HNO; on metals produces n°h predominantly exist as i “ﬁ |
NO, because the reaction O o) 3) L ke \\f’f
SO;H SO.H 2 T CHy 4)
3 2HNO3 + NO ‘_—\ 3N(?2+H20 2) En — [_RHCh]iz _UJ\/\/LLO_ NO,
0) D) lies far towards right side n |
4) the action of dilute HNO; on 4 2 s NH, I) Only a,b correct
NH, metals produce NO because of 3) E, = —me z'k 4) All of the above. 2) only a,b,c are correct
1)A,C 2)B,D the reaction 2ZHNO; + NO = 8eyn"h 15. In which of the following pairs 3) All are correct
3)A,B,D 4) B,C 3NO,+H,0O lies far towards 4) All of these second intermediate 1S more 4) b,d are correct
4. 1 Mole CuSO,. 5H,0O dissolved left side 13. The end product of the following stable then 1% one. 17. Hyper conjugation in propene
in 1 kg water. Mole fraction of | 9. An aqueous solution of a given reaction would be + + involves
Cu+2 in solution is salt was made alkaline with solid OCHs N a) CHy—OH,and CH 3+— NH -CH , 1) i-T conjugation
L o) L NH,C/ and NH,OH solution. OCH, ) L - b) CH,-0-CH,-CH,and 2) o—T* conj}lgatl‘on
55 5 56 5 H,S gas was then passed through COCH ® 3) mT—m* conjugation
3 4 L the test tube. A black precipitate U) 3 CH;—0-CH-CH, 4) 6—T conjugation
61.5 62.5 appeared. Which of the follo- ¥ 18. The carbene produced in the
S. When LiA/H, and NaBH, are wing conclusions is most appr- ¢) CH,=C-CH, following reaction is
dissolved in water opriate about the precipitate. It 0 OCH, l
1) LiAIH, hydrolyses rapidly could be D CZZ)H 2) Q< OCH, OCH, CH,
than NaBH,, 1) CuS or PbS 2) CoS or NiS I .io” ; ch. |C & cncipn A
2) NaBH, hydrolysis rapidly 3) FeS or NiS  4) All of these and CH,0-CH =CH -CH | T
than LiA/H, 10. In the mixture of (NaHCO, + . CH
3) Both LiA/H, and NaBH, Na,CO;), volume of HCI C>: o o e ’
hydrolysis at the same rate required is x mL with phenolp- 3) 4) <_—_Z: d) O/ and 1) :CCIBr
4) both LiA/H, and NaBH, do hthalein indicator and y mL with |C| OCH, 2) :CBrl
not hydrolysis at all methyl orange indicator in the © 3) :CCll 4) :CHCI
( KEY & HINTS ) 5. 1; Boron is octet — restricted. Aluminium is ksp than Group - II cation sulphides. If | 14. 4;
not, so attack on Al by H,O is possible group IV cations are expected to precipi- | 15. 2; a) Oxonium salt is less stable because +ve
400K 400K s g using d — orbitals in A/ tate, the cations of previous groups will charge on more electronegative atom.
1. 2;A8°= j (Cp/T)dT = J [ +0. 012]0' 2; Aqueous KCN is very alkaline owing to also do the same b) CH;—O- group shows - I in structure
SW0K 300K hydrolysis CN~! competes unsuccessfully = 10. 1; Since, phenolphthalein indicates only a and + R in structure b
_9587n 300 o 012 (400 300 with OH" for A** . conversion of  Na,CO, ipto NaHCO, | 16. 4; OrthF) effect anFl §lectr0n with drawing
Y 300_ L 2; 2 KOz(s) +CO, ()™ K,CO, ) +_02(g) henc§, x mL, of HCI/ will be further groups increase a01d1c‘ nature
=7.42+1.20=8.62 JK "mol 2 required to convert NaHCO, to H,CO,. So, | 17. 2; 18. 1; C - I bond is weaker bond.
K, 25 1 _ RT} Since no of gaseous moles increases total volume of HCI/ required to convert :
2. 4 K/ 5 2 "7 1000m pressure increases into H,CO; =x + x =2x mL ﬁa g J E E MAI N E[.
3. 4; Compound should have N, S 1; Acidified KMnO, oxidises NO to 11. 4; Let number of moles of Fe2t =x .
4. 4; Weight of H,0O = 1000 + 90 = 1090 HNO,. The remaining three statements x(2) +(0.96 —x)3 =2 JOuickReview sIBitlBanks E
Mole of H,O = 60.5 explains the behavior of HNO; in dil and = 12. 4; o Practice tests o Previous Papers -
_ 1 conc conditions 13. 3; beta keto acid formed undergo de- = - §
27 605+2 4; Group IV cation sulphides have higher carboxyllation NIl WWnW.sakshledncation.com
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